<<schema>> Bl

AlignmentClassic

<<FK>>
FK_AlignmentColumn_Alignment

{FK columns = AInID,
PK columns = AInID}

<<FK>>
FK_Alignment_Alignment

{FK columns = ParentAInID,
PKcolumns =AInID}

| | v
<<table>> = <<table>> ™
l > Alignment AlignmentColumn
<<not null>> <<PK>>-AlnID : int{pk name = "PK_Al... <<virtual>> <<not null>>-AlnID : int
<<not null>>-SeqTypelD : tinyint <<not null>>-ColumnNumber : int
<<null>>-AlignmentName : varchar"(255)" {n=1} <<not null>>-ColumnOrdinal : int

<<null>>-ParentAlnID : int -
<<not null>>-NextColumnNumber : int <<PK>>+PK_AlignmentColumn(){columns = AlnID...



